IABER - . v<—cuvavinon

BREE) =TT — BT —
&7V : X-LDA-AE ¥ J —X
EAEE (1 pmBAT) - ®ofFEE (1nanom) #RYVRUKEE (02 pmPAT) - BFEIR/NEAL (20 nano m)

X-LDA-AE > Y — X7 —&X ¥ — |

avite—5& FI 48— Jy=7xva—XHE

o FWHEVIRERLIEE (200nm) EfEROKEE (lum) . &/EEE Y F 20 nom
o NFFE1I M) =TTy a—KITTEA L7 MiERE

o HERAO08mM/s, MIHE:RK4g

e Abm—7 125 75, 150 mm 2> 53R

e avbru—FNEK: i Zaber Bl DT A P —F 2 —

o JEEMASOIEL =T E—XICL D

EERE. BEAFIv IR, ¥uNy 2 Iy oE

EHz XY Wik c& 9,

Bftigkt : V=72 — 2/ MEREE 7 v v X THE

T AL
X-LDA 025 A - AES53

Abu—7 Whos o2 ITva—RAFvav
025 =25 mm A=K+ 12 53=7JmsTva—
075 =75 mm £ FHHEAL, B 1
150 = 150 mm nm (F/7 A—1F )

50./03-UJD%REM

TECHNOLOGYLiINK,LTD.
T 171-0022 HILHNS B X FE g 3-18-35
OK b/l 2
Tel: 03-5924-6750 Fax:03-5924-6751
E-mail: sales@technology-l.com
URL: http!//www.technology-link.jp




- Zaber O X-LDM-AE >V — X7 A AX, 2 Ea—Ff#HOERY) =7 27— T, ENTHEE, ALv—"7
v M BEMHZEREINDT Y r—a VL TWES, PRIV oniz) =7z a—21% 1

L umONERBEL 20nm ETO B LEBEAT v IR LN E T, X-LDAAE F8A A F, XSO

WEBIROT AT LAY =T = A 2R e L, @l s @ndEe 2 20t U, 3882 i/ MRICH 2 TAZIE

Bt Am ESEET,

£7.

INODAT =%, FHE48V BIRO Az LI LT LM A2 = h T,

BB & = = X O AREERE S —T L L RO T, RWFmBRIAEN

EEDa L 2—F D RS-232

A= EITUSB AR — MR L, o Zaber# i b T4 UV —F = — 8T 22N TEET, £, T
AV—F == 3B NEHG L, BHEOX ) — XN E -EFRA2 LT 52 L &2A[EEIC LT, Zaber ®
T _RToEG L FEEE. X-LDM-AE ) — XL (759770 R7 LA T, By 87 v 7 EEAENIEFICHE T

B

o i

X-LDA-AE Direct Drive Linear Stage
dimensions in mm

Nominal |Hard Stop

Model Number*  ln Vo™ navel A MéX1.0 ¥ 6.0 A (X-LDAO25A-AE53 shown)
X-LDAO25A-AE53 _ [25.0 36.0 110.0 gentered on stage-top.

X-LDAO75A-AES3 750 [81.0 155.0 For post mounting only SE

X-LDA150A-AE53 150.0 156.0 230.0 10X M6X1.0 7 6.5 ~

*See product page for complete list at 25 mm X 25 mm grid spacing

of available models at www.zaber.com W@ S

E7 +0.032 =0 o) 90.0
XP6O™ 45020 loo® 5°.6 00
Mounting holes for Mé screws 155.8
at 25mm X 75 mm grid spacing accessed from top. 4XM6X1.0 V¥ 6.5 ’

Recommended min. screw length is 30mm on 25 mm X 75 mm grid

F
il

/]

4X M3X0.5 ¥ 5.5
12.5 at 32 mm square grid spacing

O° 4X M3X0.5 7 5.5
®p at 20 mm square grid spacing
o l—— 88.0 —==|

O

O o ° 9

@

o RS-232 prev + power

(] Reference surfaces RS-232 next + power M8 4 pin male

for XY alignment M8 4 pin female

Power 24-48V
terminal block 2 pin
5mm pitch

= 8.4
f

5X M6X1.0 ¥ 8.0

at 25 mm spacing Indexed speed or

‘ position control knob
I
=l

21.8 f—ro *
Hard stop travel / 2
68.3 —=

AVEa1—420 USB 2.0 F=IF U T ILIR—rEEALTT/NA RICEBEICHERL. RS-232 B TOVYUREEELET,
Zaber DEH D ERERAIZEAZ TESH Windows VY I+ 17 (Zaber Console) AT H&. 1= DEE L& % B2
LY, TNAREEELEBLIZY ARALRY) T EEERATZYTEIEMNTEET . LabVIEW T—HF (& EHOD

LabVIEW BBEFSANFRBLTLET,

Zaber D X V) —ZXTNARIZFEATLav DAV TIIADEHNMTNTVET , THIZKY, AVE21—FLLTHLA NS
IRRED, SESFLEE THRONGFBHECTAREICAYET . REE—FTE, /TERTET NS AN —EDEET
BEIL. A0V ANT B-UICRERIREREL TRENMERLETS . TARTL—RAVNE—RTR. /TDOEFEHH, F
EFTRER IR F T NAREBBLES . /7% 1 BEET L TRV EDLYET, BIEPI/TERLTELEITUR

ERTTHIELTEET,



(AR ES

AR
Wgi= v b —7
0 IR LRSI

B/ NENE AL
dPL L3

I v a— X5rfiRhg
IVa—XxAT
RAHET]
BAREAEHES (Fv2)
WEAVE—Tz—2R
WESara—n
ROR AL OMA B
KA v FLAN—fE

HARNEAT

T =X — 7 VR

U3y b XidFR— AfiERE
FH#avbue—n

BB A

LED #RAT

WO A4v2—7 =2
B2k

(N Tl

RoHS #E4

CE &4

F— &
Y
<0.2um
20 nm
800 mm/s

1 nm

V=7 7Furs7rvya—%

13N

6N

RS-232

Zaber ASCII (#]31iE)
100N

500 N-cm
JRAU—FXT YV
0.005°

4R =V R 7ZT 0
4R =V B2 X0,
3000 mA

48 VDC

2-v' v A LiAARIG T

AEER N 7y o) =T -4

EER4e Y M8F T 7

REE

< 0.000008 "

31.496"/s

291b
1.31b

2241b

708.1 oz-in

0.087 mrad

HFERA v Ty 7R (JREi~—72) vy —
FEHlEHHA~=271 7 7 LK E /%)

1
HY

M6 X v 74 27X
L

0~50°C

A

op

A

o



SR

X-LDAO25A-AES3

X-LDAO75A-AE53

X-LDA150A-AES3

SR

X-LDAO25A-AES3

X-LDAO75A-AE53

X-LDA150A-AES3

BRES
X-LDAO025A-AE53

X-LDAO75A-AE53

X-LDA150A-AES3

0.5

0.0

GIE il

25 mm (0.984 ")

75 mm (2.953 ")

150 mm
(5.905 ")

KRN
<4 pum
(< 0.000157 ")

<6 pum
(<0.000236 ")

<10 ym
(< 0.000394 ")

v — V75 i

500 N-m/°
(35 prad/N-m)

600 N-m/°
(29 prad/N-m)

700 N-m/°
(25 prad/N-m)

FEEE
(B—771A)

1 um
(0.000039 ")

1.5 um
(0.000059 ")

1.5 um
(0.000059 ")

vy F

0.006 °
(0.105 mrad)

0.016 °
(0.279 mrad)

0.02°
(0.349 mrad)

= — 77 T

400 N-m/°
(44 prad/N-m)

900 N-m/°
(19 prad/N-m)

1750 N-m/°
(10 prad/N-m)

SN
IniEEE

39.2 m/s2
(4.00 g)

24.5 m/s2
(2.50 g)

14.7 m/s2
(1.50 g)

" —Jv

0.005°

(0.087 mrad)

0.007 °

(0.122 mrad)

0.015°

(0.262 mrad)

MBI &

0.29 kg
(0.638 Ibs)

0.43 kg
(0.946 Ibs)

0.67 kg
(1.474 Ibs)

BEF +— b+ (RREHD

MefR
<4 pum
(< 0.000157 ")

<8pum
(<0.000315 ")

<15 um
(< 0.000591 ")

vy F 75 i

500 N-m/°
(35 prad/N-m)

1000 N-m/°
(17 yrad/N-m)

3000 N-m/°
(6 prad/N-m)

HE

0.91 kg
(2.006 Ib)

1.26 kg
(2.778 Ib)

1.81kg
(3.990 Ib)

A

A m WA A~

X-LDAxxxA-AES3

Al/\

T

: s W
AN

Wy V

0 20

40

60 80

FIARALE

100

(mm)

120

140



e/ NEENAENE AR T — &

| | | [ 3
X-LDAxXxxA-AE53
200 L ~ 20nmstep

ﬂ_

J

f 150 -

Vs

W

A

=100 - -

=

|

Vs

50 -
0
| | | | | | |
0 20 40 60 80 100 120
il (F))
R B

1 FA D —F = — VU TNR— K (xVETERX-SDC r— 7P &) £7213 USB
(X-USBDC 7 —7 /Lt &) N LT, T4 V—F =—rHNDTX
TOEEZHIE L E 9,

2 HE#htr—RFa—= PR e Fa—= T RNTFGRA—ZF, BT — VT FUx
TEMERLT, HH5 v— NEREIZK L CHEIMICKELT
HIENTEET, NITA—ZIAF V7T THETEET,

3 AT IARAIT (F#T) AT v I A$E 7 (FE 7)) 1 3fERe~v=aT7vary ha—
NERMELES, S 7EEHATLE2MmMECELEAT YT
HICEB X F9,

4 s M X-LDM-AE 27 — V3 ICEFEERm <RGN TnET, £
nBE A — TV LM R T A TR L O a— X RS
DL, FEFITEERVAT AR £T,

5 I nm EoFRE= Y 2 — XN il 7e g & O AE EIT 572912, 1 nm SfREDY =7 =
= PHRAZEY AT STV ET,

6 EBR =T — X-DC02 7 —7 NV E 721 X-DCO6 7 —7 /LT v 7 SN TWDHT
AV—F z—r~2=y FOBINTEET, F=—2HNOER
PIFCTEET,

7 BigHN7 AT —F T BELN 7o RAa—X_X7 Y 72k, BHEMaE BEhl-ry

7 F,. v—, F—HENEFLNET,

8 FESAER ) =7 T — X EH MO AP R R SR O LY =7 B — X 3N A T 2
o JMEREARFRIEL AT — DTy a—X A — LB EE K L
THBMZ N s ET,

9 XY, %tk X-LDM-AE A7 — V2l N— R =7 &8T5 & 72< | BER

XY SR A R KL ASL T HTed DT T4 A MERBRE EN T
WET,



EF)N4 TRy Y —4H

AB103 TUITNT Ty b
AP101 X-LSM €7 ¥ 7% —7 1L — b
X-SDC X V—XBHAHAMEAATS T &YV TATESE
— =) @
S-XDC X=X AVY—Xar ha—F A-MCB2 A
THETH—lr—T )
T-XDC XU —RE AV =X /T2 —RA
THTH—r—T )
X-DC06 F—HIr—T7 )L 6 ft (2 m),
E2TOX ) — @
X-DC02 F =X r—"7 L 2 ft (0.6 m),

E2TOX v — @

X-USBDC USB/ T U Ty "—&r—T )
XU =X M8 X A 7T Jft

PS13-48V12  &EJH, 48 V125 A, X ¥ U — X & D Al

PS14-48V37 EJR, 48 V375 A, X 2V — X L o H

(KX14A)

PS-15-48V65 EJH, 48 V6.5 A, X 2 U — X & D H B,

(KX15A)

X-TDC AV =X /T-v ) =L X2 U — X
THRTH—lr—T )L

X-DC15 F =R =T 15 ft (5m), &TD X-3 U — ZHL L

X-DC25 F— B i —T L 25 ft (7.6 m),

D X-2 Y — A

PTB2 BRI 0y 7,28 5mm By T
XV —=AF NS R a—VEEE OB

0 €0/




